
0102-020-001

1/15

05-02-2024 / Rev.: A

<950

>
E

N
 
1
1
7

6

3-14



0102-020-001

2/15

NORNA PLAYGROUNDS A/S • Virkefeltet 1, DK-8740 Brædstrup • Phone +45 7575 4199 • mail@norna-playgrounds • norna-playgrounds.com

This drawing is the property of NORNA PLAYGROUNDS A/S and pursuant to current legislation may not be copied, transferred to or used by any third party. Should this drawing be used, 

a fee of 10% of the assumed contract price will be charged.

36 m²
7 x 7,4 x 3 m

~N/A ~0,38 m³ Ø16/18 x 310 cm 96 kg2 29h

9
5

0

3
0

0
7

8
0

0

4191

4354

6
0

0

#19

"0"

Max kg

Max cm

1
2

2
3

1
6

0
0

7
3

5
4

6958

R

1

0

0

0

1000

R

1

5

0

0

R

1

5

0

0

1
5

0
0

R

1

5

0

0

R

1

5

0

0

R

1

5

0

0

R

1

5

0

0

R

1

5

0

0

R

1

5

0

0

R

1

5

0

0



Parts List

DESCRIP.PART NOQTY

Ø160-180RS004972

Ø160-180RS004981

Ø160-180RS005021

Ø160-180RS005132

Ø160-180RS005221

Ø160-180RS005392

Ø160-180RS005591

0102-020-001

3/15

RS00502

RS00513

RS00559

RS00498

RS00513

RS00539

RS00539

RS00522

RS00497RS00497



Parts List

DESCRIP.PART NOQTY

1150x750mm, ClosedD113401

1150x750mm, 620mm GapD113411

1150x750mm, 490mm GapD113422

930x750mm, 490mm GapD113452

930x750mm, Closed 68mm airD118492

1190x750mmD120281

1190x750mmD120291

1150x1020mmM200093

0102-020-001

4/15

D11340

D11849

D11849

D11345

D11342

M20009

D12029

M20009

D11345

D12028D11341

M20009

D11342

490



Parts List

DESCRIP.PART NOQTY

Ramp, FH:950mmD119111

750x245x73mmD119611

1150x750mm, ClosedD120251

1150x750mmD120261

930x750mm, ClosedD120271

Stairs FH: 600D410171

L: 600mmLE151162

Slide 50x170x195cmLE220041

TaifunTV000122

0102-020-001

5/15

M20098

M20098

M20098

LE22004

D11911

TV00012

D12026

D12027

D41017

LE15116

D12025

D11961



0102-020-001

6/15

1
2

2
3

"0"

#19

8
0

0

3
0

0
7

9
5

0

1
6

0
0

6
0

0

1
5

8
5

0 9
5

0

2
1

0
0

3
6

6
3

5
3

7
3

0

1222

1475

2205

2458

5769

1585



Parts List

DESCRIP.PART NOQTY

1150x750mm, ClosedD113401

1150x750mm, 620mm GapD113411

1150x750mm, 490mm GapD113422

930x750mm, 490mm GapD113452

930x750mm, Closed 68mm airD118492

1190x750mmD120281

1190x750mmD120291

6x100 ChLE1618616

5x80mmLE1619258

1150x1020mmM200093

0102-020-001

7/15

LE16186

D11340

D11345

LE16192

D11849

D11342

M20009

D11849

D11342

D11341

LE16186

M20009

D12028

LE16192

LE16186

M20009

D11345

D12029



Parts List

DESCRIP.PART NOQTY

1150x750mm, ClosedD120251

1150x750mmD120261

930x750mm, ClosedD120271

6x100 ChLE161866

0102-020-001

8/15

8
0

D12025

LE16186

D12027

LE16186

D12026

"0"



Parts List

DESCRIP.PART NOQTY

1150x750mm, 620mm GapD113411

1150x750mm, 490mm GapD113421

930x750mm, Closed 68mm airD118491

5x80mmLE1619215

1150x1020mmM200091

0102-020-001

9/15

D11342

LE16186

D11849

M20009

D11341

LE16192

LE16192



C

D

E

F-F

G

Parts List

DESCRIP.PART NOQTY

Ø38x40mmLE1510816

M16x160 mmLE151882

M16x190 mmLE151922

M16x210 mmLE151944

M16x230 mmLE151964

M12x40 mmLE160222

M12 cap nutLE160562

M16 nutLE1610012

M16 - Ø30 mmLE1615220

M12 - Ø24 mmLE161682

Ø5x30mm ChLE161793

8x180/80 DhLE162984

Ø42/38mmLE1655620

Slide 50x170x195cmLE220041

Ø14mm, l=200/130mmLE997151

1550x1680mmM200981

Ø160-180RS004972

Ø160-180RS005132

HSS lang Ø7mm L:156mmV104172

C

D

E

F

F

G

0102-020-001

10/15

M20098

M20098

M20098

LE15188

M20098

LE15192

LE15108

LE16152

LE16100

LE16556

RS00513

LE16556

LE16100

LE16152

LE15108

LE16152

LE15194

LE16556

RS00513

RS00497

LE22004

LE16179

LE16298

LE15108

Ø14 LE99715

155

LE16022

LE16056

LE16168

M20098

M20098

M20098

Ø7 V10417

M20098

LE15196



H

J

K

L

Parts List

DESCRIP.PART NOQTY

930x750mm, 490mm GapD113451

1190x750mmD120281

1190x750mmD120291

Ø38x40mmLE151084

M16x230 mmLE151964

M16 nutLE161004

M16 - Ø30 mmLE161528

Ø5x60 mm ChLE161858

6x100 ChLE161864

5x80mmLE161922

Cap Ø21-23mmLE165432

Ø42/38mmLE1655610

1150x1020mmM200091

Ø160-180RS005221

Ø160-180RS005591

H

J

K

L

0102-020-001

11/15

D12029

D11345

LE16556

LE15196

LE16152

LE15108

RS00559

LE16152

LE16100

LE16556

D12028

M20009

LE16185

LE16192

LE16543

LE16556

RS00522



M-M ( 1:55 )

N

P-P

R

Parts List

DESCRIP.PART NOQTY

M12x100 mmLE160512

M12 cap nutLE160562

M12 - Ø32 mmLE161672

HSS Ø12 L:205V104131

M M

N

P

P

R

0102-020-001

12/15

290 290

5
0

n1
2

 

-

9

0

 

D

E

E

P

LE16051

LE16167

LE16056

Ø12 V10413



T

U

V

W

Parts List

DESCRIP.PART NOQTY

Ramp, FH:950mmD119111

ShackleLE131004

Ø38x40mmLE151082

M16x220 mmLE151952

10x90 mmLE160332

Eyebolt 10x120mmLE160482

M10 cap nutLE160542

M16 nutLE161002

M16 - Ø30 mmLE161524

M10-Ø20LE161564

Ø5x60 mm ChLE161854

Spacer 6mmLE165024

Ø42/38mmLE165564

Sealtite 970 1,5mlLE165991

 Ø11mm, l=190/120 mmLE997111

Ø160-180RS005392

TaifunTV000122

T

U

V

W

0102-020-001

13/15

TV00012

LE16033

LE16156

LE16156

LE16054

LE16599

LE16502

LE13100

TV00012

Ø11 LE99711

LE16185

RS00539

D11911

LE16048

LE16556

LE16152

LE15108

LE15195

LE16152

LE16100

LE16556



Y

AA-AA

AB

AC

Parts List

DESCRIP.PART NOQTY

1150x750mm, ClosedD113401

1150x750mm, 490mm GapD113421

930x750mm, 490mm GapD113451

930x750mm, Closed 68mm airD118491

750x245x73mmD119611

Ø38x40mmLE151088

M16x210 mmLE151944

M16x230 mmLE151964

M16 nutLE161008

M16 - Ø30 mmLE1615216

Ø5x60 mm ChLE1618510

6x100 ChLE161864

Ø42/38mmLE1655616

1150x1020mmM200091

Ø160-180RS004981

Ø160-180RS005021

Y

AAAA

AB

AC

0102-020-001

14/15

LE16556

LE15196

LE16152

LE15108

LE16152

LE16100

LE16556

D11849

D11340

D11345

M20009

RS00502

RS00498

LE15194

LE16185

LE16186

D11961

D11342



AD

AF

AG

Parts List

DESCRIP.PART NOQTY

Stairs FH: 600D410171

L: 600mmLE151162

3x16, PHLE159012

Name tagLE159101

M10 cap nutLE160542

Buttonhead 10x60mm LE160772

M10-Ø20LE161562

6x100 DhLE163234

HSS Ø5 L:132V104141

AD

AF

AG

0102-020-001

15/15

LE16077

LE15116

D41017

LE16054

LE16156

LE16323

Ø5 V10414

LE15910

LE15901


